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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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In what time will 10,000 /mount
to; (13310, at /267) per annum

compounded ha\|f yearlv’ - 1000 ° P
aife & & 20% 9ia

£
gt ¥ 10,000 \ Tfer 1331 3";\0 @ ?\00
e W gWit? 7 27 \4s P
(a) 1.5 years (D) PAVETE ‘O‘}OO / '/lo"
(c) 2.5 years (d) 3 years 7 |9

(e) None of these
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In what time 8,000 will amount to
1A%

9,261 at y/per annum compound £

interest, when 2__interest is |
compouqded__h_a]_f__ue_a;ly? 1 Xy 7 > \
FHT & 8,000 #F TR 10%°, 409 e Uw
gfday Thae ST W 9,261 y
gl o9 =arer dfare w7 @ k) S
TN ad AT Srar %? 6 Y

(a) 6 months (b) 8 months \9\1' \ | "\

(c) 7 months (d) 9 months
(e) None of these
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In how many years will Rs /
2,000 vyield Rs 662 as 000

compound interest at 10‘V '
per annum com ounded 00
annually? o?°° ¢ .

J(
2ooo ¥ 9T 662 T qﬁ'réﬁ'”

10% &H T

aﬁzﬁma?mﬁ %

A) 3 B)Z
C)4 D)5
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An amount of money at compound
interest grows up to 3, 840 in@
years and up to 3, 936 in 5 years.

Find the rate of interest. iﬁﬁ;ﬁ'
sOToT 9T U @faa ufr 4 ast

# 3,840 3Ix 5 ast & 3, 936
d® g STdr g1 sgre & A
ENEE L

(a) 2.5% / (b)2% °

O ERT (d)2.05%

(e) None of these
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A sum of money

compound interest amounts to

2,400 in (2 yearé

amount to 2,646 . The interest rate

per annum? U& AT TR &1

fAder 2 ast &

T 2,400 3T 4 ast F 2,646
g Srar & | ufa av¥ surer Y X

Ald

(a) 5% (b) 6%
(c) 10% (d) 12%
(e) None of these

invested at

sqlol
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At what rate of compound
interest per annum will a sum of

money become 1.6 times of itself
in 5 years and 2. 5 times of itself
in 7 years?

Ot 1 e aT LI

a¥ # 1.6 I 3R 7

9k AT A 2.5 AT

A) 25 percent  B) 8 percent
C) 12 percent D) 16 percent
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At what rate per annum will 32000~ '

vield a compound interest of 5044 &'
in 9 months interest being
compounded quarterly. 9fa ay

9 T 9T 32000 J9T UT 9

5
‘
A9

AeldAl A 5044 I f&r sarer
foem sefe sger #1 AAAw
¥ & AT &har | A

(a) 5% (b) 10% >
(c) 15% (d) 20%

(e) None of these
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A sum of money amounts to Rs
6400 after 2 years and to Rs 12500
after 5 years @ certain rate of
compound interest . find rate of

interest and the sum of money
invested?

T 6400 39T X 5 I¥ 91

12500 9 & I &1 sarer 27 (
 ICCCIEG AT PfST?
A) 4096 , 25% B) 5000 , 25%

C) 5125 , 25% D) 2500, 30%
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A sum of money becomes 41472 in 2
years and same some of money will
becomes 59049 in 5 years at certain
rate of compound interest . find the
rate of compound interest and

Principal amount? aar-[aﬁr sqTol
f ARgaT T W 2 awf F =g

AT 41472 $9F 3N 5 a¥ &I
59049 JIYA B IATAT &l SATSHA T
3y g aa1 7 g fAfSw?

10% , 16000 12.5% , 32768
15% , 28000 25% , 24000

>
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The simple interest and compound

interest on_a certain s f money
for |2 yearsi are i4005& 410
respectively. Find principal and rate
of interest? 2 AT & AT T

AfRga TR 9 JTUROT SO
IR sOTaT HAA: 400

(a) 4000 & 5% (b) 4000 & 10 %
(c) 2000 & 5% (d) 2000 & 10%
(e) None of these

Sl=koo




- 4 (RATE)

MATHS WITH SACHIN BALIYAN SIR

The compound interest on a sum of
money for 2 years is Rs 832 and the
simple interest on the same sum for
the same period is Rs 800 . Find
difference between the compound
interest and simple interest for 3 years

? 2 ¥ & v s rrfﬂ 9T
& suror 832 T § IR 3
& T A Ui 9T |§TyrRoT

a1t 800 maﬁzl 3 "Il & fa;r

aaqzﬁramr HTYRUT AT

AT FaT AT FY

A) Rs.48 B) Rs.66.56

C) Rs.98.56 D) None of these




Cl -4 (RATE) MATHS WITH SACHIN BALIYAN SIR

The ratio of difference
between Cl and SI for 3 years
to the difference of Cl and SI
for 2 years is 19 : 6. Find rate
of interest ? 3 I & fIT
cl 3R sI & fF T AT

3R 2 v & faw a AR s
hl HAdY 19: 6 . =g ST

AT A2
(a)16.67% (b) 12.5%
(c)6.25% (d) 14.28%

(e) None of these
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The ratio of Cl for 3 years to Sl for
one year on a certain sum of
money is 3.64 :1. Find the rate

percent? Tah fARTd TR 9X
3a¥ F AT IR TH av &
AT s1 &7 39T 3.64 : 1 &
sOTaT &X 9faeld AT hierd?
(a) 10% (b) 20%

(c) 30% (d)25% (e) 15%






